Xo= —BQ:O




guymm T oU ¥WITAH ra7akdp gg %

1
2

_(HE Y< 74
¢ e T,
4_ t (£%) 1>7/,
. .
v =2












T N~
Ikz\‘} ,ﬁ,\, S.:JCH-L = Z SK

Z . BN : E-q
S \

;L‘/ ‘ \ 6:40).5

| C < ‘F t S = | dd ' ZK‘H-%K .
Ch > KN KBS K = ~-é'\r*'>( 3 )

)

+\“? :
’)_ - M{E‘;-l- Z—K—_—K({._kg
C S
— é\*’\ (z“\’zh\ 1 8 ¢ e )

N > E

6 = g<2’\ Tt ’;SN-’B AN N%:,—(
I | BS - = = .. =
S yoeraepmn 3z, o2, Sz,







60&/\\,0\1\'&\0 GL B'D x4 Swor.fuipﬁau \/(;'>

w(0) - V(X) n L Sves
,’5,[3 1~/1/\)"Q
}/é}sfx Q)
. KOJ ) S bQ‘)[vv\ﬂb
X°(<\'\ LAy QUG lew S(qgfoo‘_,5 |

Tn CPUG\KH KivaGn Tou S 96 qu‘unO)

Slxwren®] =S | 7o | + O (e*)

L{ow=c







n (V) -W(H):3

%
M2 V(=) L%
K—T”\/\)_(, - 2 Yo

4—%’\/);‘,) -

—
~
L - —
S > w Xs = ’W\/[



